Honors Math 3: Review Inverses, Exp, and Logs Name: /&M
(NO CALCULATOR) 9

Determine the inverses of the following. Be sure to indicate domain restrictions if required.
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Solve the following:
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13. Rewrite as a logarithm: F=w / 0633 w=X 14. Rewrite as exponential: Inx = 6 ﬁ -
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Unit 2 Review 2 CALCULATOR ACTIVE Bt 7 ~

Write an exponential model that describes the situation. Then find the value after the given years.

1. You bought a sculpture for $380. Each year the value of the sculpture increases by 8%. What is the value after
20 years?

Model: %O (} 083 Value/Answer: / 77 ’ d / (0

2, You buy a new car valued at $19,000. It decreases at a rate of 14% each year. What is the value of the carin 3
years? E
Model: CZO 0O / 8&)\ Value/Answer: ___ / 2- O 8 S_—,__;s_ O (0

/=4
Without graphing, give the initial value and determine whether each equation represents exponentlal growth or
exponential decay. Then determine the percent increase or decrease.

3. y= 2(.6) Initial Value: __ 2— a, y—3(1.184) el Value: __

Growth/Decay? f e liﬂ | Growth/Decay? &QVJ"P\
% increase MD %@/decrease? ﬁ 4 70

Solve each equation using inverse operations. You must show your work! Round your answer to #decimal places.
Circle your final answer.
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16. Suppose you deposit $3000 in an account that pays 4% interest compounded semt=annuatty_WhatTs the balance

in the account after 12 years? i} rz.) -
2t $4825,3 D

2000( |+
17. Suppose $250 is deposited in a savings account. The interest rate is 5% compounded mon-glly. How long will it be
until the account has $600? O [
(oo =250( |+ 22 ) T ——
v —\/2
2= 1. 000G Y

18. The half-life of plutonium is 24,000 years. How much of a 2 gram sample of plutonium will remain 3,

Z(-—%‘_)qso%qaao 3 {9 _75_(.‘:

19. Carbon-14 has a half-life of 5730 years. A sample of fossilized wood initially contained 24g of C-14 when alive. How
many years will it take the sample to decay to 1.5g. , + =

S =24 (Y6 (T= 22920 years)

20. A 540,000 car purchased in 2012 depreciates at a constant rate of 12% per year. What was the value of the car in

2016. (Lett=0represent 2012).
doooo(.88) =(¥ 22937, 8] |

21. In a swamp, the number of bugs increases at a rate of 6% each hour. If there are currently 3500 bigs, how many
bugs will there be in 8 hours?

?)S'OOCI;-OLD\sg = LS_S_ 78 61/3_{)7

Graph. Give the domain and the equations of any asymptotes. e o N
2 =

23, Find the equatlon of the inverse of #3%%nd graph.
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